DHIE R ARG BN R4 5

AR | WES 244 T A% DALY v A
1 11 5k A 84. 00 *
2 Ji R 83. 00 *
3 BRI 82. 67 *
4 NS 82. 00
4 10 5K FH 81. 67
6 5 IRAEIH 80. 33
7 8 ik 79. 67
8 1 NI 78.00
9 9 BN 75. 00
10 12 7 fiE 74. 67
11 3 BAE P 74. 00
12 13 A 71.67
13 7 PE R E 71.33
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i X TAEARERRGEN R4 5

AR | WES 244 T A% DALY v A
1 21 X & 90. 33 *
2 4 N 88. 67 *
3 MRk 87.00 *
4 27 ok BE 86. 67
4 55 T RAX 86. 67
6 23 XI) 557 B 86. 33
7 3 gk 2 Ef 86. 00
7 25 ST 5% 86. 00
9 16 N 85. 67
10 26 T A 85. 33
11 6 gl 84.33
11 24 T o 84. 33
13 8 b N 83. 67
13 15 ) 83. 67
13 44 T AR 83. 67
13 45 7B 83. 67
17 29 A 83. 33
18 17 Lyt d 82. 67
18 38 s 82. 67
20 48 Bk I3 82. 00
21 18 s HESE 81. 67
21 35 X IR T2 81. 67
23 31 K= 81.33
24 51 K 4 4 81. 00
25 13 X1 Bt 80. 67
26 10 L 80. 33
26 34 ISR 80. 33
26 47 HET T5 80. 33
29 11 BEE 80. 00
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AR | HE 44 H A SR AN Y v A
29 22 T B 80. 00
29 36 T4 80. 00
29 49 B R 80. 00
29 52 TG 80. 00
34 9 B ST 79. 67
34 19 B 79. 67
34 46 3 79. 67
37 42 pANLECR 79. 33
38 39 2Rt 79. 00
39 5 FHET 78. 67
39 50 PNETE 78. 67
41 28 RN R 78. 33
41 41 WS 78. 33
41 54 Bk 78.33
44 40 A FR iR 77. 67
45 12 XI a3 77.33
46 32 K AN 77.00
47 7 Faglit 76. 33
47 30 23k 76. 33
47 37 HH 25 5 76. 33
50 20 HPSEE 75. 67
50 33 ipEE 75. 67
52 14 EN=C 75. 33
53 1 2R 75. 00
54 53 KK T 63. 00
55 43 BKIEHS TRE
55 56 P ii] TR
55 57 IR & B TRE

30 33 m




